10?

10

1000/0 2do)/d(m_1 + m_2) [1/GeV]

1072

1073

Ratio to CMS
[N

0.5

7000 GeV pp

Trimmed dijet mass (anti-k_

Jets

(0.7), 2600<p <800, |y|<2.5)

Rivet 3.1.10, = 400k events

=/ a =
= R N =
— KN -
- o i
¢ R AR
= m E
~ ¢ .
| ny [ _|
= LN
B B CMS N
= ---- Herwig 7.2.1 default =
= ¢ Sherpa 1.4.5 default -
| | | | L | | | | | | Ly ,:
:l T T T T | T T T T | T ||§\I T :
- ¢ TS
m . 0m
: ) ; ’ \“ :l o ‘|T :
[ e Fuigy ' ]
B bbb g-B-gm BH \ T O
3 é_g Ay i = T R n
B (S . . i
o *-e e N .
e S T
| E _|
| 1 1 1 1 1 " 1 1 " 1 . ‘1 " :I " 1

200
(m_ 1+m_2)/2[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


